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10.8Tp | RDREVISION EXAMINATION 2024

Time: 3.00 gy,

Mathematics Maximum Marks - 100
_ PART- T (Marks - 14)
Note: i) Answer All the 14 questions

ii) Choose the most suitable answer from given
the four alternatives and write
option code with the corresponding answers, 4x1 -‘l:

L If f:4- B isabijective function and if n(B) = 7, then n(4) is equal to

2. Letd toBafinite set. If n(A)=m, n(B)=n, then the total number of relations that exist from 4 1o

‘.

6.

TI

(A)7 ' (B)49 ©)1 (D) 14

Bis
(A) m* (B) n" ©)n (D) m
" Ifthe sequence £}, 4, 13,..... are in A.P. then the sequence fg, 43, figsomn. i
(A) a Geometric Progression
(B) an Arithmetic Progression
(C) neither an Arithmetic Progression nor a Geometric Progression
(D) a constant sequence
If 6 times of 6™ term of an A P is equal to 7 times of 7* term, then the 13* term of the AP is
(A) 0 (B) 6 €7 D) 13
x 3
2 iy g
x=25 x +6x+5
x* =Tx+40 X +Tx+40 X-Tx+40 X +10.

VES

® e Oy OEo)) R

Transpose of a column matrix is
(A) unit matrix (B) diagonal matrix  (C) column matrix (D) row matrix

A tangent i§ perpendicular o the radius at the
(A) centre (B) pointof contact (C)infinity (D) chord

;l‘he slope of the fine which is perpendicular to a line joining the points (0, 0) and (-8, 8) is

1
(A)-1 , B)1 (C) 3 (D) -8
If tx, y) is any point on the line segment joining the points (a, 0) and (0, b) are collincar and
a, b#0 then
LY S L1 A » o
o) Sifek e BRoget 0 mibyel D) a-by=1
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s ,..:'.':;-_*-J-.t#.".'n'f':zl-n .
rit If (oo - cs&ET = W Geox @ e the vale of = aqui

Il

(A) @ B~ LS R 3
i;‘zlrra.ih:;scsz':hrm:-f::;mém'ﬂ'&iﬁ#hi‘ﬁhﬁmn..mm:,
(4] madc 6 tmes B)made 830G (C) made 12 tames (D) amchangest

I g0 inom rod s roduced one Band of 0 radies and volume e afmt;r R—

2

the longth of new o T INCTRRE WIS he prrvious ome”

i.'\! ] By s 1C'| e fm' )
13 The sum of 21l dovassans of the data from s -

(A) awps postne  (B) ahways negaine  (C) 2o (D mce-22ro mieger

i e e =
14 The prohahliny Of GOCME 2 10D D ADOTSOR 15 = I e sl o : L
i 3 If e probabdiny of moe geing 2 ob .2 Person

15

16.
17.

18.

19.

11.

i~ thenthe valwe of 1 i

¢ S
(A) ; (B) jé‘ i 5 D6
PART - I (Marks - 2)
Note: Answer TEN questions. Question Namber. 28 is compuisory. 10x2=2

AxB={(32).(3.4).(5.2). (5.4)} then Find 2 ms 3
Let f(x)=2x+5.1f x=0 then find J==2%0)

I

Kala says, “Today i my birthday™ anc she/@tks Va2, “Wher will you celebraie your biridsy ™
Vani replies, “Today is Monday and J celbralediny birthday 75 days ago™. Find the day when Vani
Findthesumof 1+ 3 + 5 - w 40 1erms

-

Determine the quadratic equations, whese sum and product of roots are -é, -1

[f;[:l s Zﬁ}aﬂ B=f : 2ﬁ]ﬂn.ﬂwwlﬂﬂ=l!w:.hmﬁmﬂ:‘pﬁwku

V2 2 2 2

What length of ladder is needed to reach a height of 7 fi. 2long the wall when the base of the ladder
is 4 f. from the wall? Round off your answer to the next tenth place.

[f the straight lines 12y=~(p+ 3)x+12, 12x~7y=16 arc perpendicular then find p'.
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2. Show that ’Lti‘,& 'l—ﬁn.q=2 )
I=sind  Yi4ging ~ 5°

24, There are 4 persons in a conical tent of slant height

19 cm. What should be the he|
tent, if each person occupics 22 e’ Meight of e conical

5. What is the maximum volume of the cone if it was cin from the hemisphcrﬁ of radius 21 em

26. A wall clock strikes the bell once at

I 0" clock, 2 times at 2 o' clock, 3 1

on. How many times will it strike | in'a particular day. Find the standard
strikes the bell make a day,

imes al 3 0" clock and o
deviation of the mumber of

27, Write the sample space for

tossing three coins using tree diagram,
28,

Find the equation of the perpcndicul;: bisector of the line joining the points A(1, 7)) and B(-3,-3)

PART — 11 (Marks - 50) .

Note: Answer TEN questions. Question Number, 42 is com pulsory. 10x5=50

2+T,0 Jx<c2

29. Ifthe function f: R — R is defined by f(x)= L A PP » then find the values of

Ix-2, x23
O f@ @ () @ +270) . ) ! (1}135(4)
The function *¢ which maps temperatire in Celsius (C)into temperature in Fahrenheit (F)is defined |
by HC) = F where 4(¢) - -c'+3z Find,

(i) {0} (ii) ¢(28).  <(iii) ¢{-10)
(iv) the value of C when 1(€)=212

(v) the temperature when the Celsius value is equal to the Fahrenheit value

31. A mother divides 2207 inwo three parts such that the amount are in AP, 5nd gives it 1o her three
children. The product of the two least amounts that the children had 24623, Find the amount
*received by each child, |

3 It 127 428 4 4b isa perfect square, find the values of a and b .

3. xr}s='[" Z} and z,:[; 't’] then, show that 8 ~(a-+dl) A= (e -ad)
€

M. State and Prove Thales theorem 10 Maths Page 3
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WA qundriteersl b versicee @ 84 - 2], IS, -1) CTAS)edt (-7, 6). Show Bat te wid

ity of ity sades. fores 8 paraficlogres.
. m.“nq.wuwumawanhtayq‘_

e s &5+ 0 mnd Wesrciing the Fine sopment jining the points (S, < &) (-7.8)

§7 Twe dhie are salling i the sen ow either vides of o Fghthouse The amgle of slevation of the op of
e lighthomee e haerved frm the chipn are W and 45 respectively If fhe Nghthouse s 200 »

tﬁ“mmmkmdﬁn[ﬁrlm]

ﬂqﬁkihﬂrﬂu%vﬂmmﬂluﬁdiﬂﬁﬁm

of the entire capsule i 12 men and the diamter of the capsule is 3 mm, bow much medicine i cn

hold”

From & wold cylinder whose height is 2.4 om and the diameter |4 cm, & cone of the same height and

e damewer 1 carved ot I‘iﬂtl:wvlnrofﬂnmnﬂhnﬂbﬁ—ﬂﬂ’+

@ Find the vananoe of the first » natural numbers.

€l A dic is nambered in such a way that its faces show the numbers L2, 2,3, 3, 6, It is theown two
times and the total score in the two throws is noted. What is the probability that the total score is
(i) even sumber (W) 6 (iii) atleast 6

2. Find the sum of all natural nambers between 100 and 1000 which are divisible by 11.

PART - IV (Marks- 16)

Note: Amswer both questions.
4. (A). Draw the two tangents from a point which is 10 cm away from the centre of a circle of radius §

cm. Also, measure the lengths of the tangents.
OR

(B). Construct s triangle ABC such that AB = 5.5cm, ZC =25 and the ahtitade from C 1o 4B is

2:8=16

4 e

44 (A). Graph the quadratic equations x* + x~12 =0 and state their nature of solutions.
OR
(). Gagh the followiag linea function y-%:.“ﬁhuﬂhﬁﬁﬂi
with the graph, Also (i) find y when x = 9 (ii) ind s when y =18
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R Manrkanpan M-se, B.EAL (Mams)
VELUMANICkAM MATRIC HR, SeC S¢heolL”

RAMAMNATHAPUR AM

Kindly Send me Your Key Answer {6 Our email id - Padasalai.net@gmail.Com



